Nel K. Mensfild, The Problemist, 1982
1. ®a8! [2. Dxed#] (5)
1....Cxf32.Cgd# 1....Cxd3 2. Cc4# 1....Cd5/c6/b7/xa8 2. C(x)d5#
1....Cf5/g6/h7 2. C(x)f5# 1....Kel 2. Kg3# 1. .. Kxf3 2. Oxed#
Ne2 Visvaldis Veders, Sredba na Solidarnosta, 1972, 1 prix
1. JIf5! [2. Kf4#] (5)
1. .. dxe6 2. dxb5# 1. ... Kc7+ 2. Kxc7# 1.... Kd4 2. JIxd4#
1.... Kxe6 2. ®b7# 1.... Kxed 2. Cc4# 1. ... Oxed 2. JIxb5#
Ne3 E. Reitsen, “Chess in USSR”, 1969
1. ©d7! [2. ®d3 ad lib 3. ®bl#] (3)
_1....JId8 2. ®d3 [3. Dbl#] (0,5)
1. ... JIcxc7 2. Kh2 ad lib 3. Kf3#(0,5)
1. ... JJaxc7 2. Kd3+(0,5)
l....c42.®d3 [3. Pb1#](0,5)
Ne4 Palckoska, 1903
1. ©h1! [2. Ce6#] (2 )
1....®d1 2. Ch6+ (0,5 )
1....®c6 2. Cf5+ (0,5 )
l....®d7 2. Cxd7+(0,5 )
I.... Dxe8 2. Ceb+ (0,5 )
1...J1d2 2. Cg2+(0,5 )
1... JId1 2. Cfl+ (0,5 )
NeS T. Douson
1.0-01 (1)
1...Kc42.Cel(2)
2....Kd5 3. Chl [4. ®a2#] (2)
Ne6 S.Loyd, New York Albion, 1858, 2 pr
1.0-0! (1)
1...a42.Cg8(1)
2...923.J1f7 (1)
1...922 JIf8 (1)
2...a43.CfT (1)

Ne7 A.Ornstein, Schakend Nederland, 1994, 2 Com.

1.Kg6 Ke7(1 ) 2.Rb2 Rad 3.Kf5 Kd6 1( }4.Ke4 Kc5 5.Kd3 Ral 6.Rd2 Kb5 (1

)7.Kc2 Ra2 8.Kb3 Rd2 pat (2)

Ne8 A.Avni, IRT, 1993, Prix

1.Kh6 Qg8 (1 ) 2.Bg8 d1Q (1) 3.Bd5 Qd5 (1 ) 4.Rf8 Qg8 (1) 5.R2f6 Rb5

6.R6f7+- (1)
Ne9 V.Kapusta, E.Reitsen
1. JIf2+ Kf5 2.Ke5 Cd4# (2,5)

1.Kb6+ Cf4  2.Kc5 Kxeb# (2,5)

NelO W.Tura, 3 WCCT, 14 place
1....Cbl! 2.9g5 Kf5#
1...Ja4!  2.71g5 Kfa#
1.g5 Cbl 2. dc7+ Kf5#(2,5)
1.JIg5 Jlad 2. dc5+ Kf4# (2,5)
Nel1 P.Sickinger, Schach, 1979, 3 prix
1. Kf3! [2. Ke5 ... JIxe5#] (2 )
1....Kpe2 2. Kel ... JIxh5# (1 ) 1. ... Kpxcd 2. dxb5 ... Cxb5# (1 )
1...Kped 2. dg6 ... JIf5# (1)
Nel12 M.Vukcevich, The Problemist, 1981, 3-4 prix
1. JTa2! [2. Kc2 ... Ked#] (2,5 )
1....Kd6 2. JIxd2 ... Cxd2# (0,5 ) 1. ... Kxf6 2. Kf5 ... Kfed# (0,5 )

1.... ®Oxh7 2. ®d3 ... Oxd3# (0,5 ) 1..Dxf6 2. Kd5 ...dxe5# (0,5 )

1....Cc2 2. dxd2 ... Cxd2# (0,5 )



Open of Alexander Dashkovsky memorial 2020 (Ukraine, Cherkassy, Chess Club "Debut", Blagovisna
st. 170 18.01.2020)

Problems Difficulty (9 Solvers)

ID|Tag|Difficulty |Average|S(Correct Solution)|0 < Pts. < 5[0 (Wrong Solution)|- (No Solution)
= 912 0.44 0 2 7 0
+ 688 1.56 2 1 6 0
#3 656 1.72 1 3 5 0
6 | #4 6221 1.89 3 2 4 0
10|H#2 612 1.94 3 1 5 0
3|1 #3 588] 2.06 1 3 5 0
11]|S#2 5781 2.11 1 4 4 0
12|S#2 478| 2.61 2 3 4 0
5|#4 4441 2.78 5 0 4 0
9 |H#2 4441 2.78 5 0 4 0
2| #2 3341 3.33 6 0 3 0
1| #2 2221 3.89 7 0 2 0
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